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(B) (WA LFEBEYIHERT HHED LA EDES(m) (F) A LB EY AT DHED L AZEDES() %i%”f’;ﬁ(ﬁfﬁi‘ﬂﬁ%%it J_“ﬁ@f‘ﬁ& Fr7EHh HEH 2 LET
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(A) (B) (©) (D) (E) (F) (G) (H) (A) (B) () (D) (E) F) (G) (H)
(1) - - 95.4 1.0 - - 10.0 20 - - 90.6 1.0 - - 100 20
(2) - - 89.2 1.0 - - 12.9 25 - - 85.5 1.0 - - 12.9 25
( 3) - - 95.3 1.0 - - 12.3 2.4 - - 90.9 1.0 - - 12.3 24
( 4) 1179 1.0 99.8 1.0 - - 12.3 2.4 116.9 1.0 96.5 1.0 - - 12.3 24
(5) - - 98.8 1.0 - - 13.4 2.7 - - 96.8 1.0 - - 134 2.7
(6) 1071 1.0 100.0 1.0 - - 13.4 2.7 105.7 1.0 96.8 1.0 - - 134 2.7
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